WA RS — XA

5 % (1./2)

AIREERY

1/25SHBIRE

RIATEICHTBRRIEEY -~ |pEEs

sy -()/ Y- »1R8;P.,;

OFZ &+ OEDH

AIREIZRT

2SHELIDALERS

AIEBE (2018/7/20

10:30

11:30

\g|l==sa
HITEES

AIE S

F1-Icw-061
F1-7 282 kL1-1

XX D

X HREE[MSv/h]
=i 7 \
=] i /
S \ E
Al L\’}]n | w5 A
]| e [Ohlng— /
CIE = * L) /
N | \ — V’
=Ly = E ! /
o I 3 o ! j /
L - | i / 71
R e o |
LT L Sos A | ‘ 3 SIh , /el
BIEE: , : L] (0.080) 'ﬂ Ay~
ez =3 L1 M A g st I dl 1
0.070) [ \ ‘
| O Iy i dh:d Wi N Ta !
[ ! O MOMO j S T\ (0o7s) [ S wl
cm o 00 o T - ) 3|
e (0.060) ver ey [ oo
—kA Ne—Ea 4 (0.070) fev

(1) A—pd)

|
=1

* BEHETH — o X — 4| & DEFERHL DS B TR ERDRIE

25000

20000

15000

v

10000

5000

Range [keV]

20(LLD) ~ 2,000

400

600

800

1,000
energy [keV]

1,200

1,400

1,800 2,000

* BHER Y — 1 A—FIC L BAER EFA—EFRICTYART MLUERIE




WA RY — N A

50 % (2./2)

Hy ox=y
BIEEHN |1/2SHISIERATISICRITDINRBEY -1 [EIFES
O 2+ OEDH
SBITEIZEN | 2S1E00 A& BIES
BIEBRF (2018/7/26 10:30 11:30
SBIESS |U-lcw-289
IR - :
XiBXD —
X #REF[mSv/h]
= =2 4 \
| | |

=74
;[ ﬁﬂ:xﬁsg

] ey
id 5
i}

|

El/[[

/’l{llllly///@ ;o

6 )

No 1cmEREHEFT(mSv/h) wE No 1lcmigEHEE(mSv/h) as
1 0.30 = 11 0.050 =
2 0.30 = 12 0.055 =
3 0.25 - 13 0.14 =
4 0.10 = 14 0.12 =
5 0.12 = 15 0.10 -

H#hZRm 16 0.11 -
6 0.21

0.80 17 0.10 -

7 0.090 = 18 0.070 =
8 0.080 - 19 0.070 =
9 0.050 =
10 0.070 -
11 0.050 -
12 0.055 -
13 0.14 =
14 0.12 =
15 0.10 -






